Y7 END-OF-YEAR
- EXAM

Non Calculator
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1 gl:;t;:r chart gives information about the numbers of boys and girls in four year 7

Number of boys and girls in Y7 classes

Key
B Boys
[ Girls

Frequency

Class

a Work out the total number of boys in the four classes.

b Write the ratio of boys to girls in 7C.
Give your answer in its simplest form.

2 A group of children have to study either French or Spanish.
15 girls study Spanish and 21 boys study French.
There are 26 girls altogether. A total of 40 children study Spanish.

a Complete the two-way table.
LB tAL
46
26
& 0O 32

b How many children are in the group?

(3 marks)

iR S g



3 N‘¢13‘M=24
8 Find the HCF of Nand M.
Facks ¢ (T ~ [,%,% 61,08
Focks o 27 = 1,053,468

Her =6

b Find a common factor of N and M that is a prime number.

¢ Find the LCM of N and M.

Pty 9 L8 7 [1,56) 5%, 7,
Mudbdes o % = 2%, ¥8 32, -

4 Work out
a -8x-4

b 14 +-4

r’@
& Iy ‘@0

12,24

-------------------------------



8§ Thetem res |
Peratures in g garden on 5 nights were

-2°C 4“8 450 ,_Suc -5°¢

a Work out the mean

“Lawtwt(-¢)tl-5)==-5 L i B
b Work out the range. / O
°C
L+ - (— 6 ..............................
) (2 marks)
6 Simplify
a Sx+y+2x-4y
:/)1"37
b 4y x 3y
124"
(2 marks)
7 Work out
a 64 L{_
" YA
gag2  weasoaBSeews
e (2 marks)

8. Peg has six times as much chocolate as Reg. Meg has twice as much chocolate as Reg. Peg

has how many times as much chocolate as Meg?
. . h C Eight times as much
‘ times as much B Four times as muc ;
‘ Three D Ten times as much B Twelie s ssmudh
(1 mark)

9 Expand 4(x —5)

(1 mark)




1 ¥
0Fing the value of 3x?

aWhenxzz 21:(.{

b whenx=-3

(-3)* =79
IR =LY

N|—=

a Find the value of vwhenu=18,a=6and t=
v=I1{ + 6x%
—f+3
b Find the value of vwhenu=-10,a=-5and t=-2
s = & [-5{=2)
— ~-J0+10

‘12 Work out% + % giving your answer as a mixed number.

13. The diagram shows two equal squares.
‘What is the value of x?

@140 B 145 C 150 D 155 E 160

(2 marks)

(2 marks)

(2 marks)

(1 mark)



14 Work out S 18

ivi
8 © 27 Qiving your answer in its simplest form.

I P
ixﬁ _

.
<
I, —
(2 marks)
15A cat eats§ fat
4 Ot atin of cat food every day.
How long will 8 tins of cat food last?
¢ 2
- g'. ) 2
- ( X ,‘1__ -~ 2 T Jﬂ%s
3 3 (1 mark)

2
16a Change 4§ to an improper fraction.

Gvo+? gL
S - .
b Workout4%+%
i
/)S:-— xz — 1%

o / \ ,T

(3 marks)
17 ABC is an isosceles triangle. CD is parallel to AB.
B D
73
34 73 34°
A ' c E
' le BCD. ?‘3 :

Find the sizé of ang —

[§0- #3734



18
Work Out the size of the interior angle of a regular 10-sided polygon.

Sxnin = 350 - 3¢

(2 marks)

19 Write these numbers in order. Start with the smallest number.

0.370 -0.13 0.098 02 0.17
L20013,.0:048,.0:17,.0:2

(1 mark)
20 Work out
a42-418 s
470
~ &~k
&%)
.......... Q0%
b 62+85%
=62-5
124
= 51 &2 -00
............. 12-4.
(3 marks)
21 Write 12-%% as a fraction. Give your answer in its simplest form.
l
j2-5 _ 25 . L T8
-y 200 € (1 mark)



e 3 2. st Wortsr ot by liging gl e
: » 50 the code for SQUARE is 19x 17 x 21 x 1 x 18 X5 = :
S,‘mﬂady‘ the code for RBCTANGLESiSB,I 752 500 What is the code for TRIANGLE?

B 2721600 @19051200 D 25401600 E 52920000

(1 mark)

23 Solve
a 4x+1=2x-3
D+1=~3
2=~y
A ==P
b 2(y-2)=1
27 =g = |
27 =5

24 Work out 4% of £128
|/ =128

G/ =5-12 £5:020
(2 marks)
25 Change 5 m” to om”.

S » 10,000 -5.0,000
(1 mark)



26
There are 168 children in Year 7.

Seventy two of these are girls.
Work out the ratio of boys to girls. Give your answer in its simplest form.

g ~*2 = 96

9672
G

(2 marks)

27 Ally and Bo share £50 in the ratio 1 : 4
How much more money does Bo get than Ally?

50~s =10
Al flo) By £ 4O

(2 marks)

28 A bricklayer can lay 50 bricks in an hour.
How long will it take 4 bricklayers to lay 1000 bricks?

%W@ZDOM@M

29 A cuboid is 5 cm by 6 cm by 8 cm.
Work out its total surface area.

5x6x2
54 §x7
Y 61£841

234 SRR




30 Here are th
e first four terms of an arithmetic sequence.

5 10 15 2

a Write ane ion. i
XPression, in terms of n, for the nth term of this sequence.

Akim thinks that the 21st term of the sequence ends ina 5

b Is he correct? You must give a reason for your answer.

...........................................

31 X is the point (3, 4), Y is the point (11, 4) and Z is the point (1, 8).
Find the coordinates of the midpoints of

a XY
— (3 PO G q)
T 7T % /

b XZ
(3 o G+ §
2 ) =2
A2, 6) .
(2 marks)
32 Simplify 2¢2 + X + 3x = 4
b
...... Sx.. =3

(1 mark)



33 Pencils cost x pence each. Rubbers cost y pence each.
Write g formula for the total cost T in pence for 5 pencils and 4 rubbers.

T.252+%y.
(2 marks)
34 Find the area of this parallelogram.
/ Gim 8cm
12cm
ILAE - X,
(1 mark)
35a Complete the table for the graph of y = 2x + 1
x| o0 1 2 3 4
o IR 3 5 + 9
15’“ b Draw the graph of y = 2x + 1 on the grid.
o IV
g / .
¢ The point with coordinates (8, ) lies on the graph.
7 What is the value of k?
i 2
x§+)
4 (3 marks)
3
2
k-
0 x

1 23 45 6



36 Here are four numbers.

3 11
3B8% 3 —

Put them in order. Start with the smallest number.

37 Here is a regular pentagon.

Work out the size of angle x.
Y =10§"
X=1§0—lo§

—— S

2
38 Solve3(x+5)=5x+6

SXAHS =5+ b
-3 —~3x
1= 2x +6
9 =X

END OF TEST
TOTAL MARKS: 75

30 7)35’/ .......
(2 marks)
................... 36.-
" (2 marks)
(3 marks)



